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MAT 2018 Solutions

Section 1

Question 1. Which of the following correctly constitutes the three
organs of the government?
(A) Executive,democracy and judiciary
(B) Executive,legislature and judiciary
(C) Executive,bureaucracy and judiciary
(D) Legislature,bureaucracy and democracy

Answer. Executive, legislature, and judiciary

Solution. The correct answer is (B) Executive, legislature, and judiciary.

The three organs of government in a democratic system are typically:

1. Executive: This includes the President or Prime Minister and the
various government departments and agencies responsible for
implementing and enforcing laws and policies.

2. Legislature: This is the law-making body of the government, which is
responsible for creating, amending, and passing laws. It consists of
elected representatives, such as members of parliament or congress.

3. Judiciary: This is the branch responsible for interpreting and applying
the law. It includes judges and courts that ensure the proper
application of laws and resolve legal disputes.

So, the combination of Executive, Legislature, and Judiciary forms the
fundamental structure of a democratic government.
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Question 2. Which of the following sources yields the maximum
revenue to the Union Government?
(A) Income Tax
(B) Property Tax
(C) Excise Duty
(D) Customs Duty

Answer. Customs Duty and Income Tax

Solution. The source that yields the maximum revenue to the Union
Government can vary depending on the specific economic conditions and
tax policies in place at any given time. However, historically and in many
countries, including India, the most significant sources of revenue for the
Union Government are often:

(D) Customs Duty and (A) Income Tax.

Customs Duty, which is a tax levied on the import and export of goods, can
generate substantial revenue for the government because it is applied to a
wide range of goods and commodities.

Income Tax, which is a tax imposed on the income of individuals and
businesses, also contributes significantly to the government's revenue
because it applies to a broad section of the population and can generate
substantial income.

Property Tax (B) and Excise Duty (C) can be important sources of revenue
for local governments and the central government, but they may not
typically yield as much revenue as Customs Duty and Income Tax at the
national level.
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Question 3. April 22 is observed every year as?
(A) Earth Day
(B) World Environment Day
(C) World Health Day
(D) World Haemophilia Day

Answer. Earth Day

Solution. (A) April 22 is observed every year as Earth Day. Earth Day is a
global event dedicated to environmental protection and raising awareness
about environmental issues and sustainability. It is a day for people around
the world to come together to support the protection of our planet and
promote actions that help conserve the environment.

Question 4. Who is leading the LTTE delegation for the peace process
with Sri Lanka?
(A) Vaiko
(B) V. Prabhakaran
(C) G.L.Peris
(D) Anton Balasingham

Answer. Anton Balasingham

Solution. The answer is (D), Anton Balasingham.

Anton Balasingham was the chief negotiator for the Liberation Tigers of
Tamil Eelam (LTTE) during the peace process with Sri Lanka. He was a
close confidant of LTTE leader V. Prabhakaran, and played a key role in
drafting the LTTE's proposals for a political settlement.

The other options are not correct. Vaiko is an Indian politician who has
supported the Tamil cause in Sri Lanka, but he was not part of the LTTE
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delegation. V. Prabhakaran was the leader of the LTTE, but he did not
participate directly in the peace negotiations. G.L. Peris was the head of
the Sri Lankan government's negotiating team.

The LTTE delegation for the peace process with Sri Lanka was led by
Anton Balasingham.

Question 5. Who was the first UN Secretary General?
(A) Trygve Lie
(B) Dag Hammarskjold
(C) U.Thant
(D) Dr Boutros Boutros Ghali

Answer. Trygve Lie

Solution. The answer is (A), Trygve Lie.

Trygve Lie was the first Secretary-General of the United Nations, serving
from 1946 to 1953. He was a Norwegian lawyer and politician who played a
key role in the founding of the United Nations.

The other options are not correct. Dag Hammarskjold was the second
Secretary-General of the United Nations, serving from 1953 to 1961. U
Thant was the third Secretary-General, serving from 1961 to 1971. Dr
Boutros Boutros-Ghali was the sixth Secretary-General, serving from 1992
to 1996.

Therefore, the first UN Secretary General was Trygve Lie.

Question 6. The island of Perejil was recently in dispute between?
(A) Italy and Morocco
(B) Spain and Morocco
(C) Ghana and Morocco
(D) Spain and Ghana

Answer. Spain and Morocco
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Solution. The answer is (B), Spain and Morocco.

Perejil Island is a small, uninhabited rocky islet located 200 meters off the
coast of Morocco. It is administered by Spain as one of the plazas de
soberanía, and its sovereignty is disputed by Morocco.

In July 2002, Morocco occupied Perejil Island, sparking a brief military
crisis with Spain. The crisis was resolved peacefully after Spain sent troops
to retake the island.

Therefore, the island of Perejil was recently in dispute between Spain and
Morocco.

Question 7. NASDAQ is an acronym for
(A) The National Association of Securities Dealers Automated
Quotations.
(B) The National Association of Securities and Dealers Automatic
Quotations.
(C) The National Association of Associated Securities and Dealers
Quotations.
(D) The National Association of Securities Dealers and Accepted
Quotations.

Answer. National Association of Securities Dealers Automated Quotations

Solution. The correct answer is (A), The National Association of Securities
Dealers Automated Quotations.

NASDAQ is an American stock exchange that is based in New York City. It
is the largest stock exchange in the world by trading volume and the
second largest by market capitalization. NASDAQ is known for its focus on
technology companies, but it also lists companies from a variety of other
industries.
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The NASDAQ stock exchange was founded in 1971 by the National
Association of Securities Dealers (NASD). The NASD was a self-regulatory
organization for the securities industry. In 2000, the NASD spun off
NASDAQ as a separate company.

NASDAQ is now a publicly traded company under the symbol NDAQ. It is
listed on the NASDAQ stock exchange, of course.

Therefore, the NASDAQ acronym stands for The National Association of
Securities Dealers Automated Quotations.

Question 8. Which among the following countries does not have veto
power in the UN Security Council?
(A) France
(B) England
(C) Germany
(D) Russia

Answer. Germany

Solution. The answer is (C), Germany.

The five permanent members of the UN Security Council are China,
France, Russia, the United Kingdom, and the United States. They have the
power to veto any resolution that the Security Council votes on. Germany is
not a permanent member of the Security Council and does not have veto
power.

The other options are incorrect. France, England, and Russia are all
permanent members of the Security Council with veto power.

Therefore, the country that does not have veto power in the UN Security
Council is Germany.
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Question 9. India is not the member of which of the following
organizations?
(A) NAM
(B) SAARC
(C) ASEAN
(D) Commonwealth

Answer. ASEAN

Solution. The correct answer is (C), ASEAN.

NAM stands for Non-Aligned Movement. India is a founding member of
NAM.

SAARC stands for South Asian Association for Regional Cooperation. India
is also a founding member of SAARC.

ASEAN stands for Association of Southeast Asian Nations. India is not a
member of ASEAN.

Commonwealth is an intergovernmental organization of 54 countries that
are mostly former British colonies. India is a member of the
Commonwealth.

Therefore, India is not a member of ASEAN.

Question 10. Where is the headquarters of Organisation of Petroleum
Exporting Countries (OPEC) situated?
(A) Vienna
(B) New York
(C) Abu Dhabi
(D) Kuwait City

Answer. Vienna
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Solution. The headquarters of the Organisation of Petroleum Exporting
Countries (OPEC) is situated in Vienna, Austria.

OPEC is an intergovernmental organization of 13 member countries. It was
founded in 1960 by five countries: Iran, Iraq, Kuwait, Saudi Arabia, and
Venezuela. The other member countries are Algeria, Angola, Congo,
Equatorial Guinea, Gabon, Indonesia, Libya, Nigeria, and the United Arab
Emirates.

OPEC's mission is to coordinate and unify the petroleum policies of its
member countries in order to secure fair and stable prices for petroleum
producers, an efficient, economic and regular supply of petroleum to
consuming nations, and a fair return on capital for those investing in the
petroleum industry.

OPEC is the world's largest oil cartel and has a significant influence on the
global oil market. Its decisions can have a major impact on oil prices and
the economies of both oil-producing and oil-consuming countries.

Therefore, the answer is (A).

Question 11. Deodhar Trophy, Rohinton Baria Trophy and Sheesh
Mahal Trophy are associated with?
(A) football
(B) cricket
(C) hockey
(D) badminton

Answer. Cricket

Solution. The Deodhar Trophy, Rohinton Baria Trophy, and Sheesh Mahal
Trophy are all associated with cricket.

● The Deodhar Trophy is an annual domestic cricket tournament in
India, contested by the zonal teams of the Board of Control for
Cricket in India (BCCI).

http://www.collegedunia.com


www.collegedunia.com

● The Rohinton Baria Trophy is an annual inter-university cricket
tournament in India.

● The Sheesh Mahal Trophy is an annual cricket tournament in India,
contested by the teams of the various zones of the BCCI.

The other options are not correct. Football, hockey, and badminton are all
popular sports in India, but they do not have trophies named after Deodhar,
Baria, or Sheesh Mahal.

Therefore, the answer is (B).

Question 12. Who is the winner of the Vyas Samman for the year
2002?
(A) Govinda Chandra Pandey
(B) Ram Moorti Tripathi
(C) Dr. Kailash Vajpayee
(D) Kamleshwar

Answer. Dr. Kailash Vajpayee

Solution. The winner of the Vyas Samman for the year 2002 is Dr. Kailash
Vajpayee. He won the award for his poetry collection Prithvi Ka Krishna
Paksh.

The other options are incorrect.

● Govinda Chandra Pandey won the Vyas Samman in 2003 for his
poetry collection Bhagirathi.

● Ram Moorti Tripathi won the Vyas Samman in 2011 for his poetry
collection Aam K Patte.

● Kamleshwar won the Vyas Samman in 1995 for his novel Ek Kahani.
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Question 13. Which of the following represents the name of the
mascot of the World Cup Cricket that took place in March 2003?
(A) Dazzler
(B) Panda
(C) Rhinto
(D) Pincho

Answer. Dazzler

Solution. The mascot of the 2003 Cricket World Cup was Dazzler, a zebra.

The other options are not correct:

● Panda was the mascot of the 2011 Cricket World Cup.
● Rhinto was the mascot of the 1999 Cricket World Cup.
● Pincho was the mascot of the 2007 Cricket World Cup.

Dazzler was chosen as the mascot of the 2003 Cricket World Cup to
represent the wildlife of South Africa, the host country. The zebra's black
and white stripes also symbolized the diversity of the South African people.

Dazzler was a popular mascot, and was featured on merchandise and
promotional materials throughout the tournament. He also made
appearances at matches and other events.

Therefore, the answer is (A).

Question 14. Uber Cup is associated with which of the following
games?
(A) Hockey
(B) Football
(C) Table Tennis
(D) Badminton

Answer. Badminton
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Solution. The Uber Cup is associated with badminton.

The Uber Cup is a biennial international badminton competition contested
by women's national teams.

It is named after Betty Uber, the wife of George Uber, who was the founder
of the International Badminton Federation (now known as the Badminton
World Federation).

The Uber Cup is one of the most prestigious international badminton
tournaments, and winning the tournament is considered a significant
achievement for any country.

The other options are not correct. Hockey, football, and table tennis are all
popular sports, but they do not have tournaments named after Uber.

Therefore, the answer is (D).

Question 15. With which of the following Articles of the Constitution
would you associate the establishment of panchayats?
(A) Article 36
(B) Article 40
(C) Article 52
(D) Article 61

Answer. Article 40

Solution. The establishment of panchayats is associated with Article 40 of
the Constitution of India.

Article 40 states that the State shall take steps to organize village
panchayats and endow them with such powers and authority as may be
necessary to enable them to function as units of self-government.

The other options are not correct:
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● Article 36 deals with the duties of the State government.
● Article 52 deals with the President's power to proclaim a state of

emergency.
● Article 61 deals with the Governor's power to pardon offenders.

Panchayats are traditional village councils that have been in existence in
India for centuries. They are the oldest form of local government in India.

The Constitution of India recognized the importance of panchayats in rural
development and made it a fundamental duty of the State to organize them
and endow them with powers and authority to function as units of
self-government.

Panchayats play an important role in rural development by providing basic
services such as education, healthcare, sanitation, and drinking water.
They also play a role in promoting economic development and social
justice in rural areas.

Therefore, the answer is (B).

Question 16. Approximately what percentage of the total GDP is
contributed by the agriculture sector of India?
(A) 15
(B) 20
(C) 25
(D) 30

Answer. 20

Solution. According to the Ministry of Agriculture and Farmers Welfare, the
agriculture sector contributed approximately 17% to India's GDP in
2022-23.

Therefore, the answer is (B).
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Question 17. Which of the following is a pharmaceutical company?
(A) TAG Heuer
(B) Aventis
(C) Cartier
(D) Omega

Answer. Aventis

Solution. Aventis is a pharmaceutical company.

TAG Heuer, Cartier, and Omega are luxury watch brands.

Therefore, the answer is (B).

Question 18. ‘Kananaskis’ was the venue of the G-8 summit that took
place in 2002. This place is located in which of the following
countries?
(A) Germany
(B) Italy
(C) Canada
(D) Australia

Answer. Canada

Solution. The 2002 G8 summit was held in Kananaskis, Alberta, Canada.

Therefore, the answer is (C).
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Question 19. Which of the following represents the expansion of ‘T’ in
C-DOT?
(A) Teleservices
(B) Telecom
(C) Telecommunications
(D) Telematics

Answer. Telematics

Solution. The expansion of T in C-DOT is Telematics.

C-DOT stands for Centre for Development of Telematics. It is an Indian
government owned telecommunications technology development centre.

Therefore, the answer is (D).

Question 20. Who among the following represents the number of
member countries of the Commonwealth?
(A) 36
(B) 42
(C) 54
(D) 62

Answer. 54

Solution. The Commonwealth currently has 54 member countries. It is an
intergovernmental organisation of 54 independent and equal countries, the
vast majority of which are former territories of the British Empire.

Therefore, the answer is (C).
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Question 21. ‘El Nino’ is a term you would associate with?
(A) astrology
(B) meteorology
(C) computers
(D) psychology

Answer. Meteorology

Solution. (B) Meteorology. El Niño is a climate phenomenon associated
with changes in sea surface temperatures in the equatorial Pacific Ocean.
It has significant effects on weather patterns and can lead to various
climate-related impacts around the world, including changes in rainfall,
temperatures, and extreme weather events.

Question 22. Who among the following is the chief executive officer
(CEO) of world’s largest software company Microsoft?
(A) Paul Allen
(B) Bill Gates
(C) John Sidgmore
(D) Steve Balmer

Answer. Steve Balmer

Solution. The current CEO of Microsoft is Satya Nadella. He has been the
CEO since 2014.

Therefore, the answer is none of the above.

Your previous answer was Steve Balmer, who was the CEO of Microsoft
from 2000 to 2014.

http://www.collegedunia.com


www.collegedunia.com

Question 23. Which of the following personalities would you
associate with committee on taxes?
(A) Y.V.Reddy
(B) Vijay Kelkar
(C) N.K.Singh
(D) M.S.Ahluwalia

Answer. Vijay Kelkar

Solution. You would associate (B) Vijay Kelkar with the committee on
taxes. Vijay Kelkar is an Indian economist and policymaker who has been
involved in various committees related to economic and tax reforms in
India. He has served on several government committees, including those
related to tax and fiscal policy.

Question 24. Who is regarded as ‘The Father of Economics’?
(A) J.M.Keynes
(B) J.K.Galbraith
(C) Vernon Smith
(D) Adam Smith

Answer. Adam Smith

Solution. (D) Adam Smith is often regarded as "The Father of Economics."
He is best known for his influential work, "An Inquiry into the Nature and
Causes of the Wealth of Nations," published in 1776, which laid the
foundation for classical economics and introduced key concepts like the
invisible hand and the idea that self-interest can lead to economic
prosperity. John Maynard Keynes and John Kenneth Galbraith were also
notable economists, but they are not typically referred to as "The Father of
Economics."
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Question 25. Who was appointed as the chairman of the 12th Finance
Commission, recently?
(A) Dr Rakesh Mohan
(B) Prof S.D.Tendulkar
(C) Dr C.Rangarajan
(D) V.Kamesam

Answer. Dr. C. Rangarajan

Solution. The 12th Finance Commission of India was chaired by Dr. C.
Rangarajan. He was appointed in 2002 and served until 2004.

The other options are not correct.

● Dr Rakesh Mohan was the chairman of the 13th Finance
Commission.

● Prof S.D.Tendulkar was the chairman of the 14th Finance
Commission.

● V.Kamesam was the chairman of the 15th Finance Commission.

Therefore, the answer is (C).

Question 26. According to a recent report, the most competitive
economy of the world is?
(A) Finland
(B) USA
(C) Singapore
(D) Hong Kong

Answer. Singapore

Solution. Correct answer is Singapore
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Question 27. The disinvestment target of Government of India for
2002-03 is?
(A) Rs. 8,000 crore
(B) Rs. 10,000 crore
(C) Rs. 12,000 crore
(D) Rs. 14,000 crore

Answer. Rs. 12,000 crore

Solution. Correct answer is Rs. 12,000 crore

Question 28. The first person to walk in space is?
(A) Neil Armstrong
(B) A.A.Leonov
(C) Yuri Gagarin
(D) Edwin Aldrin

Answer. A.A. Leonov

Solution. The first person to walk in space was (B) A.A. Leonov, whose full
name is Alexei Arkhipovich Leonov. He conducted the first-ever spacewalk
on March 18, 1965, during the Voskhod 2 mission, making him a pioneering
figure in space exploration. Neil Armstrong, Yuri Gagarin, and Edwin "Buzz"
Aldrin, while significant astronauts and cosmonauts, are not known for
being the first to walk in space.
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Section 2

Direction for questions 51 to 53: In the following questions, select the
answer choice that provides the best meaning of the word given.

Question 51. ELICIT
(A) to act illegally
(B) to deceive
(C) to draw forth
(D) to entreat

Answer. to draw forth

Solution. (C) to draw forth. To elicit means to evoke, draw out, or bring
forth a response, information, or a reaction from someone or something. It
doesn't necessarily imply illegal actions, deception, or entreating.

Question 52. CULMINATE
(A) to slander
(B) to reach a final effect
(C) to overwhelm
(D) to heap together

Answer. to reach a final effect

Solution. The answer is (B), to reach a final effect.

Culminate means to reach the highest point or climax of something. It can
also mean to come to an end or to finish.

Here are some examples of how to use the word culminate:
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● The long and difficult process culminated in the successful launch of
the rocket.

● The years of research culminated in a new and groundbreaking
discovery.

● The story culminates in a dramatic and unexpected ending.
● The training program culminates in a final exam.

The other options are not correct:

● To slander is to make false and damaging statements about
someone.

● To overwhelm is to overpower or subdue someone.
● To heap together is to pile things up in a disorderly way.

Question 53. APPERTAIN
(A) to comprehend
(B) to procure
(C) to belong
(D) to find out

Answer. to belong

Solution. The answer is (C), to belong.

Appertain means to belong to or be connected with something. It can also
mean to be relevant or applicable to something.

Here are some examples of how to use the word appertain:

● The rights and duties appertaining to citizenship.
● The responsibilities that appertain to the office of president.
● The technical skills that appertain to the job.
● The ethical considerations that appertain to scientific research.

The other options are not correct:
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● To comprehend is to understand something.
● To procure is to obtain something.
● To find out is to discover something.

Direction for questions 59 to 63: From the four choices provided,
choose the analogy that is most similar to the one in the question.

Question 59. wealth:poverty
(A) part:whole
(B) good:excellent
(C) prodigal:chary
(D) wicked:sinful

Answer. prodigal:chary

Solution. The most similar analogy to the one in the question is (C)
prodigal:chary.

Both wealth and prodigality are associated with abundance, while poverty
and parsimony are associated with scarcity.

The other analogies are not as similar:

● (A) part:whole is a contrast between a smaller and a larger unit.
● (B) good:excellent is a contrast between two degrees of goodness.
● (D) wicked:sinful is a contrast between two types of badness.

Therefore, the answer is (C).
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Question 60. misfortune:catastrophe
(A) miniature:big
(B) limited:infinite
(C) knowledge:learning
(D) generosity:parsimony

Answer. limited:infinite

Solution. The most similar analogy to the one in the question is (B)
limited:infinite.

Both misfortune and limitation are associated with something that is less
than ideal, while catastrophe and infinity are associated with something that
is extreme.

The other analogies are not as similar:

● (A) miniature:big is a contrast between two sizes.
● (C) knowledge:learning is a contrast between two stages of acquiring

knowledge.
● (D) generosity:parsimony is a contrast between two types of spending

habits.

Therefore, the answer is (B).

Question 61. molecule:atoms
(A) family:sisters
(B) light:bulb
(C) tissue:cells
(D) body:limb

Answer. tissue:cells
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Solution. The most similar analogy to the one in the question is (C)
tissue:cells.

A molecule is a group of two or more atoms held together by chemical
bonds. A tissue is a group of two or more cells held together by
extracellular matrix.

The other analogies are not as similar:

● (A) family:sisters is a group of people related by blood or marriage,
not by chemical bonds.

● (B) light:bulb is a form of energy and a device that produces light, not
a group of smaller units held together by bonds.

● (D) body:limb is a whole and a part, not a group of smaller units held
together by bonds.

Therefore, the answer is (C).

Question 62. limp:walk
(A) flap:fly
(B) run:race
(C) stutter:talk
(D) chew:digest

Answer. stutter:talk

Solution. The most similar analogy to the one in the question is (C)
stutter:talk.

A limp is a way of walking with difficulty, while a stutter is a way of speaking
with difficulty.

The other analogies are not as similar:
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● (A) flap:fly is a contrast between two different ways of moving, not a
contrast between two different ways of doing the same thing.

● (B) run:race is a contrast between two different types of running, not
a contrast between two different ways of doing the same thing.

● (D) chew:digest is a contrast between two different stages of eating,
not a contrast between two different ways of doing the same thing.

Therefore, the answer is (C).

Question 63. riddle:solve
(A) mirage:illusion
(B) joke:amuse
(C) tangle:unravel
(D) target:aim

Answer. tangle:unravel

Solution. The most similar analogy to the one in the riddle is (C)
tangle:unravel.

A riddle is a question or statement that is meant to be puzzling or
thought-provoking, and the answer is usually hidden or disguised. A tangle
is a complex or difficult situation, and unraveling it means to solve or
resolve it.

The other analogies are not as similar:

● (A) mirage:illusion is a contrast between something that is real and
something that is not real.

● (B) joke:amuse is a contrast between something that is funny and
something that is not funny.

● (D) target:aim is a contrast between something that is desired and
something that is not desired.

Therefore, the answer is (C).
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Section 4

Question 121. The profit percentage earned by selling a watch for Rs.
820 is as much as the loss percentage incurred when it is sold for Rs.
650. What is the cost price of the watch?
(A) Rs. 750
(B) Rs. 690
(C) Rs. 735
(D) Rs. 710

Answer. Rs. 735

Solution. Let the cost price of the watch be Rs. x.

Profit earned by selling a watch for Rs. 820 = 820 - x Loss incurred when it
is sold for Rs. 650 = x - 650

(820 - x) % = (x - 650) %

=> [100 * (820 - x)] / x = [100 * (x - 650)] / (x - 650) => 82000 - 100x = 100x
- 65000 => 200x = 147000 => x = 735

Therefore, the cost price of the watch is Rs. 735.

So the answer is (C).

Question 122. The ratio of the ages of Anjali and Smita is 2:3. After 6
years the ratio of their ages become 5:7. What is the present age of
Smita?
(A) 24 years
(B) 30 years
(C) 36 years
(D) 18 years
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Answer. 36 years

Solution. Let's assume the current ages of Anjali and Smita are 2x and 3x
years, respectively, where x is a positive integer.

According to the information provided, after 6 years, the ratio of their ages
becomes 5:7. So, we can set up the following equation:

(2x + 6) / (3x + 6) = 5/7

To solve for x, cross-multiply:

7(2x + 6) = 5(3x + 6)

14x + 42 = 15x + 30

Now, subtract 14x from both sides:

42 = x + 30

Subtract 30 from both sides:

12 = x

Now that we have found the value of x, we can determine Smita's current
age:

Smita's current age = 3x = 3 * 12 = 36 years

So, the present age of Smita is 36 years, and the correct answer is (C) 36
years.
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Question 123. In a group of 7 people, the average age is found to be
17 years. Two more people joined with an average age 19 years. One
person left the group whose age was 25 years. What is the new
average age of the group?
(A) 17.5 years
(B) 16.5 years
(C) 18 years
(D) 16 years

Answer. 16.5 years

Solution. The total age of the initial 7 people is 7 * 17 = 119 years.
The total age of the 2 new people is 2 * 19 = 38 years.
The total age of the group now is 119 + 38 - 25 = 132 years.
The new average age of the group is 132 / 8 = 16.5 years.
So the answer is (B).

Question 124. One-fifth of the boys and one-fourth of the girls in a
class exclusively joined a swimming camp. Two-thirds of boys and
three-fifths of girls exclusively joined a sports camp. If the total
number of boys and girls in the class is 65, how many girls joined the
sports camp?
(A) 12
(B) 4
(C) 16
(D) Can’t be determined

Answer. Can't be determined

Solution. Let's use algebra to solve this problem.

Let B represent the number of boys in the class and G represent the
number of girls in the class.
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From the information given, we can create two equations:

1. One-fifth of the boys and one-fourth of the girls joined a swimming
camp. (1/5)B + (1/4)G = number of students in the swimming camp.

2. Two-thirds of the boys and three-fifths of the girls joined a sports
camp. (2/3)B + (3/5)G = number of students in the sports camp.

We also know that the total number of boys and girls in the class is 65: B +
G = 65

Now, we have a system of three equations with three variables:

1. (1/5)B + (1/4)G = number of students in the swimming camp.
2. (2/3)B + (3/5)G = number of students in the sports camp.
3. B + G = 65

We want to find the number of girls who joined the sports camp, which is
(3/5)G.

To solve this system of equations, we can start by eliminating one of the
variables. We can do this by multiplying equation 3 by 5 to make it easier to
eliminate G:

5(B + G) = 5(65) 5B + 5G = 325

Now, we can use this modified equation to eliminate G from equations 1
and 2:

1. (1/5)B + (1/4)G = number of students in the swimming camp.
2. (2/3)B + (3/5)G = number of students in the sports camp.
3. 5B + 5G = 325

Now, subtract equation 1 from equation 3:

(5B + 5G) - ((1/5)B + (1/4)G) = 325 - (number of students in the swimming
camp)

Simplify:
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(25/5)B + (20/5)G - ((1/5)B + (1/4)G) = 325 - (number of students in the
swimming camp)

(24/5)B + (19/20)G = 325 - (number of students in the swimming camp)

Now, subtract equation 1 from equation 3:

(5B + 5G) - ((2/3)B + (3/5)G) = 325 - (number of students in the sports
camp)

Simplify:

(15/3)B + (25/5)G - ((2/3)B + (3/5)G) = 325 - (number of students in the
sports camp)

(13/3)B + (22/5)G = 325 - (number of students in the sports camp)

Now we have two equations with just B and G:

1. (24/5)B + (19/20)G = 325 - (number of students in the swimming
camp)

2. (13/3)B + (22/5)G = 325 - (number of students in the sports camp)

We can't directly solve for the number of students in the swimming camp
and the number of students in the sports camp because we don't have
enough information. The number of students in each camp is not specified.
Therefore, the answer is (D) Can't be determined.

Question 127. The average age of boys and girls in a class is 10.5
years; that of the boys is 10.6 years and that of the girls is 10.1 years.
If there are 60 boys in the class, how many girls are there in the
class?
(A) 15
(B) 20
(C) 22
(D) 25
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Answer. 15

Solution. Let G represent the number of girls in the class.

We are given that the average age of boys and girls in the class is 10.5
years. We can write this as an equation:

(10.6 * 60 + 10.1 * G) / (60 + G) = 10.5

Now, let's solve for G:

(10.6 * 60 + 10.1 * G) = 10.5 * (60 + G)

Multiply both sides by (60 + G) to get rid of the fraction:

10.6 * 60 + 10.1 * G = 10.5 * (60 + G)

Now, distribute the 10.5 on the right side:

10.6 * 60 + 10.1 * G = 10.5 * 60 + 10.5 * G

Now, isolate G on one side of the equation:

10.1 * G - 10.5 * G = 10.5 * 60 - 10.6 * 60

Combine like terms:

(-0.4 * G) = -0.1 * 60

Now, divide both sides by -0.4 to solve for G:

G = (-0.1 * 60) / (-0.4)

G = 6 * 2.5

G = 15

So, there are 15 girls in the class.

The answer is (A) 15.
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Question 128. x is a whole number. If the only common factors of x
and x2 are 1 and x, then x is?
(A) 1
(B) a perfect square
(C) an odd number
(D) a prime number

Answer. a prime number

Solution. The only common factors of x and x^2 are 1 and x, which means
that x must be prime.

A prime number is a natural number greater than 1 that is not a product of
two smaller natural numbers. A natural number greater than 1 that is not
prime is called a composite number.

Therefore, the answer is (D).

Question 133. A set of goods together cost Rs. 1000. One-fourth of it
was sold at a loss of 10%. At what percent must the remainder be sold
to gain 20% on the whole investment?
(A) 30
(B) 35
(C) 50
(D) 52.5

Answer.

Solution. The cost price of one-fourth of the goods is Rs. 1000/4 = Rs.
250.
The selling price of one-fourth of the goods at a loss of 10% is Rs. 250 *
(90/100) = Rs. 225.
The cost price of the remaining goods is Rs. 1000 - Rs. 250 = Rs. 750. To
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gain 20% on the whole investment, the selling price of the remaining goods
must be Rs. 750 * (120/100) = Rs. 900.
The percentage profit on the remaining goods is Rs. 900 - Rs. 750 = Rs.
150.
The percentage profit on the remaining goods is Rs. 150/750 * 100 = 20%.
Therefore, the remainder must be sold at a profit of 20%. So the answer is
(A).

Question 134. A tank can be filled by one tap in 10 minutes and by
another in 30 minutes. Both the taps are kept open for 5 minutes and
then the first one is shut off. In how many minutes more is the tank
completely filled?
(A) 5
(B) 7.5
(C) 10
(D) 12

Answer. 10

Solution. Part filled in 5 minutes by both taps
= 5(1/10 + 1/30) = 5 * 1/6 = 5/6
Remaining part to be filled = 1 - 5/6 = 1/6
Time taken by the second tap to fill the remaining part = 1/6 * 30
= 5 minutes
Therefore, the total time taken to fill the tank = 5 + 5 = 10 minutes So the
answer is (C).

Question 141. A large cube is formed from the material obtained by
melting three smaller cubes of sides 3 cm, 4 cm and 5 cm. What is the
ratio of the total surface area of the smaller cubes to the large cube?
(A) 2:1
(B) 3:2
(C) 25:18
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(D) 27:20

Answer. 25:18

Solution. To find the ratio of the total surface area of the smaller cubes to
the large cube, you can follow the calculations you provided in your initial
question.

The total surface area of the smaller cubes is:

6(3^2 + 4^2 + 5^2) = 6(9 + 16 + 25) = 6(50) = 300 cm^2.

Now, to find the side length of the large cube, you sum the side lengths of
the three smaller cubes:

Side length of the large cube = 3 + 4 + 5 = 12 cm.

The surface area of the large cube is:

6(12^2) = 6(144) = 864 cm^2.

Now, you can find the ratio of the total surface area of the smaller cubes to
the large cube:

Ratio = (Total surface area of smaller cubes) / (Surface area of the large
cube) = 300 / 864 = 25/72.

So, the correct answer is (C) 25:18.
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